
Soustraction Avec Un Zéro (J)Calculez la différence.
50 500 50 70- 30 - 422 - 18 - 64

900 300 500 500- 795 - 167 - 301 - 287
700 70 900 700- 105 - 11 - 178 - 653
600 700 80 400- 497 - 166 - 5 - 230

80 10 20 200- 16 - 7 - 6 - 23
80 700 600 600- 62 - 360 - 345 - 587
60 500 90 50- 11 - 129 - 57 - 19
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Soustraction Avec Un Zéro (J) RéponsesCalculez la différence.
50 500 50 70- 30 - 422 - 18 - 6420 78 32 6900 300 500 500- 795 - 167 - 301 - 287105 133 199 213700 70 900 700- 105 - 11 - 178 - 653595 59 722 47600 700 80 400- 497 - 166 - 5 - 230103 534 75 17080 10 20 200- 16 - 7 - 6 - 2364 3 14 17780 700 600 600- 62 - 360 - 345 - 58718 340 255 1360 500 90 50- 11 - 129 - 57 - 1949 371 33 31
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